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1) Point 'K' is situated in north-west direction from 'P' 
at the distance of 2 km. Point 'R' is situated in south-
West direction from 'K' at the distance of 2 km. Point 
'M' is situated in North-West direction form 'R' at the 
distance  of  2km.  At  last  'T'  is  situated  in  South-West 
direction  from  'M'  at  the  distance  of  2  km.  In  which 
direction is 'T' from point 'P'? 
a) North  b) West 
c) East   d) South 
 
2) Raju is the neighbour of Ramu and he lives in South-
East at the distance of 100 m. Verma is the neighbour 
of Raju and he lives in south- west direction and 100 m 
distance  from  Raju.  Mr.  Singht  is  the  neighbour  of 
Ramu  and  lives  100  m  is  North-East  direction  from 
Ramu. In which direction is Mr. Singh living from Mr. 
Verma? 
a) South-West  b) North-East 
c) North-West  d) South 
 
3) A rat runs 20' towards East and turns to right, runs 
10' and turns to right, runs 9' and again turns to left, 
runs 5' and then turns to left, runs 12' and finally turns 
to left and runs 6'. Now, which direction is the rat facing 
? 
a) West   b) South 
c) North  d) East 
 
4) I am Standing at the centre of a circular field. I go 
down south to the edge of the field and then turning 
left  I  walk  along  the  boundary  of  the  field  equal  to 
three-eights of its length. Then I turn left by 45° and go 
right across to the opposite point to the boundary. In 
which direction am I from the starting point? 
a) West   b) North 
c) North-west  d) South-west 
 
5) Eight people A, B, C, D, E, F, G and H are placed in 
this manner. B N A H C E F W G All are facing outwards. 
If all of them move two positions in clockwise direction, 
then the directions, H will be facing, is 
a) North-west  b) North-east 

c) North  d) East 
 
6) I am facing South. I turn right and walk 20 m. Then I 
turn right again and walk 10 m. Then I turn left and walk 
10 m and then turning right walk 20 m. Then I turn right 
again and walk 60 m. In which direction am I from the 
starting point ? 
a) North-west  b) North-east 
c) East   d) North 
 
7)  I went  15 m to  the  north,  then  I  turned west  and 
covered 10 m, then I turned south and covered 5 m and 
then turned east and covered 10 m. In which direction 
am I from the starting point ? 
a) North  b) West 
c) East   d) South 
 
8) A man starts from a point, walks 4 miles North, turns 
to his right and walks 2 miles, again turns to his right 
and walks 2 miles, again turns to his right and walks 2 
miles. In which direction would he be now ? 
a) East   b) South 
c) North  d) West 
 
9) Deepa starts walking northwards and after a while, 
she turns to her right. After walking some distance, she 
turns to her left and walks a distance of one kilometre. 
She then turns to her left again. In which direction is 
she moving now ? 
a) East   b) West 
c) North  d) South 
 
10) If Ram's house is located to the south of Krishna's 
house and Govinda's house is to the east of Krishna's 
house, in what direction is Ram’s house situated with 
respect to Govinda's house ? 
a) South-East  b) North-West 
c) North-East  d) South-West 
 
11)  John,  in  the  morning,  started  walking  towards 
North and then turn towards opposite side of the sun. 
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He then turns left again and stops. Which direction is 
he facing now? 
a) South  b) West 
c) North  d) East 
 
12) A taxi driver commenced his journey from a point 
and drove 10km towards North and turned to his left 
and drove another 5 km. After waiting to meet one of 
his  friends,  he  turned  to  his  right  and  continuted  to 
drive another 10 km. He has covered a distance of 25 
km so far but in which direction he now may be? 
a) West   b) East 
c) North  d) South 
 
13)  One  morning  after  sunrise,  Gopal  was  standing 
facing a pole. The shadow of the pole fell exactly to his 
right. Which direction was he facing ? 
a) East   b) Data inadequate 
c) West   d) South 
e) None of these 
 
14) A taxi driver commenced his journey from a point 
and drove 10 km toward north and turned to his left 
and drove another 5 km. After waiting to meet a friend 
here,  he  turned  to  his  right  and  continued  to  drive 
another 10 km. He has covered a distance of 25 km so 
far , but in which direction would he be now ? 
a) East   b) North 
c) South  d) South-east 
 
15)  Going  50  m  to  the  South  of  her  house,  Radhika 
turns left and goes another 20 m. Then, turning to the 
North, she goes 30 m and then starts  walking to her 
house. In which direction is she walking now ? 
a) North  b) East 
c) South-east  d) North-west 
 
16) Raju is Ramu’s neighbour and he stays 100 metres 
away towards southeast. Venu is Raju’s neighbour and 
he stays 100 metres away towards southwest. Khader 
is  Venu’s  neighbour  and  he  stays  100  metres  away 

towards northwest.  Then where is  the position  of 
Khader’s home in relation to Ramu’s ? 
a) North-West  b) South-West 
c) South-East  d) North 
 
17)  A man walks 6 kms South, turns left and walks 4 
kms, again turns left and walks 5 kms. Which direction 
is he facing now ? 
a) East   b) North 
c) South  d) West 
 
18)  A  man  leave  for  his  office  from  his  house.  After 
moving distance of 20 km, he turn south and walked 10 
km then he turn his right and after walking further 35 
km, again turned his right and move for 10 km, and at 
last he turned his right and walked 5 km to reach his 
office. He is facing east direction now. If straight 
distance between his house and office is 30 km, then 
he  started  walking  in  which  direction  before  his  first 
south turn? 
a) West   b) East 
c) South-west  d) North-west 
e) None of these 
 
19)  From  a  point,  a  person  starts  walking  in  south 
direction. He takes a right turn, then taken 2 lefts turns 
and then takes two right turns and stops after walking 
3 km. In which direction he is standing with respect to 
the starting point? 
a) East   b) West 
c) South  d) North 
e) Cannot be determined 
 
20)  A  man  starts  from  a  point,  walks  2  km  towards 
north,  turns  towards  his  right  and  walks  2  km,  turns 
right again and walks. What is the direction now he is 
facing ? 
a) North  b) East 
c) South  d) West 
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21) A girl walks 100 m straight from her home, to go to 
the  market  during  her  morning  walk.  Then  she  turns 
left  for  60  m,  then  85  m  turning  her  right  and  then 
again turns right for 60 m, she can see her shadow now. 
Therefore, in which direction is the entry gate of her 
house facing and what is the shortest distance from her 
current location to ther home ? 
a) East, 160 metre b) North, 185 metre 
c) South, 185 metres d) North, 160 metre 
 
22) One evening before sunset two friends Sumit and 
Mohit were talking to each other face to face. If Mohits 
shadow was exactly to his right side, which direction 
was Sumit facing ? 
a) South  b) Data inadequate 
c) West   d) North 
e) None of these 
 
23) Raheja started from a point. He walked 3km to the 
North, then turned East and walked 4km, then turned 
West walked 2km and then turned West walked 3km 
and  stopped.  In  which  direction  is  Raheja  from  his 
starting point ? 
a) North  b) South 
c) East   d) West 
 
24) A child walks 25 feet towards North, turns right and 
walks 40 feet, turns right again and walks 45 feet. He 
then turns left and walks 20 feet. He turns left again 
walks  20  feet.  Finally,  he  turns  to  his  left  to  walk 
another 20 feet. In which direction is the child from his 
starting point ? 
a) West   b) South 
c) North  d) East 
 
25) A driver left his village and drove North for 20 km. 
after which he stopped for breakfast. Then he turned 
left  and  drove  another  30  km., when  he stopped  for 
lunch. After some rest, he again turned left and drove 
20 km. before stopping for evening tea. Once more he 
turned left and drove 30 km. to reach the town where 

he had supper. After evening tea, in which direction did 
he drive? 
a) North  b) East 
c) West   d) South 
 
26)  Ashok  went  8  kms  south  and  turned  west  and 
walked 3 kms. Again he turned north and walked 5 kms. 
He took a final turn to east and walked 3 kms. In which 
direction was Ashok from the starting point? 
a) West   b) North 
c) East   d) South 
 
27) In a game “Pass the ball” position of some players 
are as follows: ‘A’ is 20 meters to the north of ‘B’ who 
is 18 meters to the east of ‘C’ who is 12 meters to the 
west of ‘A’, If ball was initially with 'B' and is passed to 
'C' in which direction is it from his starting point? 
a) North – West  b) North 
c) South – East  d) North – East 
e) East 
 
28) A direction pole was situated on the Road Crossing. 
Due to an accident, the pole turned in such amanner 
that the pointer which was showing East, started 
showing  South.  Sita,  a  traveller  went  to  the  wrong 
direction  thinking  it  to  be  West.  In  what  direction 
actually she was travelling ? 
a) North  b) East 
c) South  d) West 
 
29) A person starts walking in north to his house and 
walks 50m. Now he took a right turn and walks 20m 
and  after  that  he  took  another  right and  walks 20m. 
Now he is moving towards his house. In which direction 
he is walking? 
a) south west  b) south east 
c) north west  d) north east 
e) None of these 
 
30) Vijay walks 10 metres westward, then turns left and 
walks 10 metres. He then again turns left and walks 10 
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metres. He takes a 45 degree turn rightwards and walks 
straight. In which direction is he walking now? 
a) South East  b) West 
c) South  d) South West 
 
31) A man starts for his office in the North direction. He 
turns to his left, and then to his right, and again to his 
right. In which direction will he be facing ? 
a) East   b) West 
c) South  d) North 
 
32)  Ram  is  facing  North-west.  He  turns  in  clockwise 
direction by 90°, then 180° in the anti-clockwise 
direction and then another 90° in the same direction. 
Which direction is he facing now? 
a) South  b) West 
c) South-west  d) South-east 
 
33) A boy is facing south direction. He turns 60 degree 
in  anti-clockwise  direction  and  then  120  degree  in 
clockwise direction. In which direction is he facing? 
a) north east  b) south east 
c) north west  d) south west 
e) None of these 
 
34) After walking 200 metres, I turned right and 
covered a distance of 100 metres, then turned left and 
covered a distance of 300 metres. In the end I am facing 
towards  North.  From  which  direction  did  I  start  my 
journey ? 
a) North  b) East 
c) West   d) South 
 
35) Five boys A, B, C, D, E are sitting in a park in a circle. 
A is facing South-West, D is facing South-East, B and E 
are right opposite A and D respectively and C is 
equidistant  between  D  and  B.  Which  direction  is  C 
facing? 
a) North  b) South 
c) West   d) East 
 

36) X walks southwards and then turns right, then left 
and then right. In which direction is he moving now? 
a) West   b) North 
c) South  d) South West 
 
37) A man is facing South. He turns 135° in the 
anticlockwise direction and then 180° in the clockwise 
direction. Which direction is he facing now ? 
a) North – East   b) South - West 
c) South – East  d) North – West 
 
38) Shama, during the time of sunset, started walking 
towards the  opposite  side  of  sun  and then  she turns 
right and right again. What direction is she facing? 
a) East   b) West 
c) South  d) North 
 
39)  A  person  starts  his  journey  by  walking  in  West 
direction. He walks for 7 m and takes a left turn. Next 
after travelling a distance of 10 m, he turned to his right 
and travelled 4 m. Next he walks for 3 m towards North 
direction and turns 45o in clockwise direction. In what 
direction is he travelling now? 
a) North-east  b) South-west 
c) South-east  d) North-west 
e) East 
 
40) If A stands on his head with his face towards north, 
in which direction will his left hand point? 
a) East   b) North 
c) North-East  d) North-West 
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